NI . ot ot e e e e e e e e e e e e e e

Sheet 13 F Mixed arithmetic 3

Work out, without a calculator

1.

847 + 325 2. 7140 +396 3. 294 — 157 4. 6293 — 1734

5. 35% 4 6. 73 x6 7. 214 x 8 8. 315x7

9. 23 x 100 10. 315 x 10 11. 17 x 1000  12. 562 x 10

13. 59+ 10 14. 647 =100 15. 83+ 10 16. 219+ 1000

17.

18.

19.

20.
21,

22,

23.

24.

At a concert 2280 people were present. If 975 of these were men, how
many were women?

Nine parcels of equal weight total 10.72 kg. How much does each
parcel weigh?

A metal rod is 4 m long. Three pieces, each 65 cm long, are cut from the
rod. How much is left?

If 3 bars of chocolate cost 99p, how much would 6 bars cost?
If 7 protractors cost 84p, how much would 9 protractors cost?

If it takes 4 men 12 days to build a wall, how long would it take 1 man
on his own?

If 10 shirts cost £75, how much would 2 shirts cost?

If it takes 7 builders 4 days to build a wall, how long would it take 2
builders?



